
Left Side

Right Side

D

o

o

r

EVS Tuning GTLM Mirror Assembly

Honda S2000

Rubber Gasket

Mirror Base

M6 Flange Nut

M6 Flange Nut

M6 x 30mm Stud

M6 x 12 Countersunk

M6 x 20 Countersunk

M5 x 10mm Countersunk

Do not exceed 5 Nm ( 44 in-lb)!

F
r
o
n
t

F
r
o
n
t

Contents

Qty Description

1

Left Side Mirror Assembly

1

Right Side Mirror Assembly

1 Left Side Base Plate

1

Right Side Base Plate

2 Rubber Gasket

2 M6x25 Countersunk Screw

2 M6x12 Countersunk Screw

2 M6x30 Stud

4

M6 Flange Nut

IMPORTANT

This screw is left loose for packaging and shipping.

Adjust the mirror angle to your desired position, then tighten the screw.  

Do not exceed 5 Nm (44 in-lb).

The mirror glass is mounted on a ball pivot 

and can be adjusted independent of the housing.


